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4.4 Rational Exponents and Radicals

Consider the following:

(51/2)(51/2) and (√5)(√5)

Similarly:

(51/3)(51/3)(51/3) and (∛5)(∛5)(∛5)

Recall:

(xa)(xb) = (xa) = (xa)b =
(xb)

* If n is a natural number and x is a rational number then

ex. a) 161/2 b) (-64)1/3 c) 321/5

* And if the numerator of the exponent is not 1 ....

ex. 163/4 =
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homefun: pg. 227 #3, 4, 6-12, 16-19

ex. Express as a radical, then evaluate

a) 152/3 b) (-27)4/3

c) (0.01)3/2 d) (0.75)1.2

ex. Express as a power

a) ∛52 b) (∜7)3


